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1- 5   100 ml    

 1 M      60 ml  
 0.1 M     

                                                                        )Ca=40  .  C=12  . O= 16  (  
  

  
2-  200ml   0.03 

M    0.05 M    
  

  
3- 70 ml  1.5 M    12 gm   

 
  

  
4-  0.3 M      0.4 

M     
  

  

5- 
 .

 5mL 15mL 0.2 mol / L 

                           
6- 200ml NaOH 

0.3 mol / L 0.1 mol / L  

  
7- 25ml 0,3M 25ml 

0,4M 
. 

 

8 -  
 

(0.5 mol/L)  )...............– – (  
 

  



                                                      .....   
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9 - )0.5 
mol/L ( )............– – (  

  

10- 1g 
20mL 0.2mol/L 

)  .Na = 23 , O = 16 , H = 1 ( 
  

  

11-          6gm   
  50 ml    0.2 mol / L   

         Ca=40   C=12   O= 16 )    (        
  

  

12-  14.3       50 
ML    40 ML   4.562    /  

    
                                                   )Na=23   C=12   O=16   H=1       (                                    

  

13 - 1,013 ZnSO4,x H2O BaCl2 
0,8223  

                                 )Zn=65    S=32     O=16    Ba= 137     H=1     (  
   

  
14 -  . || .

 ||CuSO4.xH2O 2,495 g 
1,595 g  ..   )Cu=63     S=32   O= 16   H=1 ( 

  

15- 4,5 g 
 .

5,5 g  . . 

                               )Ag=108     .  Cl =35.5    Na = 23  
  

16- 
62,26% .  )Mg=24   S=32   O=16     H=1 ( 


